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Test 1

Part1 Listening Comprehension (%%)

Part II Reading Comprehension

Directions: There are 4 passages in this part, each passage is
followed by some questions or unfinished statements. For each of
them there are four choices marked A), B), C) and D). You should
decide on the best choice and mark the corresponding' letter on the
Answer Sheet with a single line through the center.

Questions 21 to 25 are based on the following passage:

The Atlantic Ocean, named for the legendary lost island of
Atlantic, has made up for the romantic origin of its name by becoming
the most important commercial highway in the world; yet traces of
romance continually mingle with the business of the sea.

For instance, the Spanish adventurers who first sought gold and
silver in America frequently found their ships becalmed, usually on
the edge of the steady trade winds—about 30 degrees north or south
latitude. A sailing ship could carry only so much water, and as it lay
motionless under a hot sun for days or weeks, the tortures of thirst
WEre agonizing.

The horses were generally the first victims; they had to be
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thrown overboard when they died or became crazed with thirst.
Because the Spanish caballeros(% -+ )thought highly of their horses,
even crediting them with souls, they suffered great remorse (#{8) and
believed the ghosts of the proud war horses were haunting the scene;
they saw the restless spirits in their dreams and related their dreams to
sailors.

Whenever the mariners passed the way, they would see in the
spray or clouds imaged of wild horses bearing down on them, they
began to call the broad belts of calm the “horse latitudes”, the
romantic name by which they are known today.

21. Atlantic was
A) alegendary island
B) an island named after the ocean in which it was supposed to
have been located
C) an actual island which has disappeared
D) both A and B
22. The area of “horse latitudes™ was dangerous because
A) ships could easily be wrecked there
B) - there was no wind
C) ships were overloaded with horses
D) it was haunted by ghosts of horses
23. Dying horses were probably thrown overboard in order to
A) conserve water
B) lighten the ship
C) spare them the agonies of thirst
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D) spare the men the trouble of caring for them
24. Proof of the Spaniards’ placing a high value on their horses was
their .
A) taking them to America
B) crediting them with souls
C) regretting their loss
D) all of the above
25. The selection says that sailors called the area the “horse

latitudes™ because .

A) the Spaniards told them it was haunted by the ghosts of
horses

B) they regretted the loss of the horses

C) they had dreams about the lost horses

D) the Spaniards had named it that

Questions 26 to 30 are based on the following passage:

Settlers from Maryland and Pennsylvania first moved into what
is now the state of West Virginia in the late 1700°s. At that time, this
area was part of the state of Virginia, but some fundamental
differences between eastern Virginia and western Virginia existed that
later led to the division of these two regions into separate states.
Eastern Virginia was flat, had a mild climate, and was made up of
large farms. Western Virginia was mountainous, had a cool climate,
and was made up of small farms. During the early 1800°s the
residents of western Virginia felt that the state was being run by and
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for the eastern Virginians and that the westerners did not have a full
share of the government. When the Civil War started in 1861,
Virginia joined the Confederate States, but the counties in the western
part of the state refused, and broke away entircly. In 1863, these
counties were admitted to the Union as the state of West Virginia.

26. The formation of which of the following sates is the main topic of
the passage?
A) Maryland.
B) Virginia.
C) Pennsylvania.
D) West Virginia._
27. According to the passage, from where did the pioneers of Western
Virginia come?
A) Pennsylvania and Maryland.
B) Eastern Virginia.
C) The Confederate States.
D) The Far West.
28. According to the passage, which of the following was probably
true of western Virginia in the 1800°s?
A) Its average elevation was lower than that of eastern
Virginia.
B) Its climate was more moderate than that of eastern Virginia.
C) TIts farms were generally the same size as those of eastern
Virginia.
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30.

D;

Its citizens felt they were not rcally running the state.

Which of the following can be inferred from the passage about

the citizens of castern Virginia’

A)

B)
O
D)

They wanted the citizens of western Virginia to form their
own statc.

Theyv did not want to sccede from the United States.

Thev were not treating the western Virginians as cquals.
They wanted the citizens of western Virgima to participate

morc 1 Virginia govermment,

Which of the following can most probably be mfcrred from the

passagc?

A) Citizens of western Virgima were not as wealthy as citizens
of castcrn Virginia.

B) Citizens of western Virginia were better educated than
citizens of castern Virginia.

) Citizens of western Virgimia were not as loval to the United
States as citizens of castern Virginia.

D) Citizens of western Virgima ran their government more

clfectively than the citizens of eastern Virgima.

Questions 31 to 35 are based on the following passage:

In order to Icarn a foreign language well. 1t 1s neccssary 1o

overcome the fear of making mistakes. If the primary goal of language

usc is communication, then mistakes arc sccondary considerations that

mav be dealt with gradually as awareness of those mistakes ncreases.
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On the other hand. students should not 1gnore their mistakes. The

language Icarncr may observe how native expressions differ from the
wayv the learner nught sav them. For example, a Spanish speaker who
has been saving 1 do it™ to express willingness to do something in the
immediate future, could, by intcracting with native speakers of
English, observe that native speakers actuallv sav “I'lf do it”. The
resulting discrepancy(#:5#) can scrve as a basis for the student to
modifv his wayv of using thc present tense in English. But a student
who is unwilling to interact in the first place would lose this
opportunity to learn by trial and error.
31. According to the passage, the present tensc in English is

A) not used to express a desire to do something in the immediate

future
B) used with some verbs but not with others to express future
intention

C) basically the same in English as it is in Spanish

D) not the most difficult problem for foreign students
32. According to the passage, language learners can rcducc the

number of their mistakes by’

A) asking native speakers for cxplanations

B) rcading good books in the forcign language

C) comparing their speech with that of native spcakers

D) speaking without regard to native spcakers

(98]
(8]

. According to the passage, forcign language students who do not
micract with native spcakers will NOT
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A)
B)
0
D)

learn very much about the foreign culture
learn about the history of the foreign language
have to worry about making mistakes

take advantage of available language models

34. According to the passage, foreign language students should not

worry too much about making mistakes because

A)

B)
O
D)

native speakers like foreign students who try to learn their
language

communication is the primary goal of language learning
native speakers will ignore their mistakes

everyone makes mistakes when trying to communicate in a
foreign language

The author’s major conclusion about the function of mistakes in

foreign language learning is that

A)

B)
0

D)

mistakes are not important in the process of learning a
language

learners are often very afraid of making mistakes

making mistakes can help the learner discover the rules of
the language

native speakers often do not tell foreign language learners
about their mistakes

Questions 36 to 40 are based on the following passage:

The children born during that boom are called the baby-boom

generation, which is by far the largest generation in American history,
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nearly one third of the total U.S. population today. By the sheer force

of their numbers they have demanded a response from the nation at .
- every stage of their life. o

When they were children in the 1950°s, the U.S. became child-
oriented. New elementary schools were built in the 1950°s to educate
them. Then new high schools in the 1960°s and new colleges in the
1960°’s and 1970’s. Today, in 1982, the baby-boom generation is
between the ages of 20 and 35 years old.

In the last decade, during the 1970°s, we had a larger increase
of labour force than we had during the preceding 30 vears.
Productivity, however, was quite low. It was because we had so many
young and inexperienced workers coming into the labour force.

This generation that was twice as likely as their parents’
generation to go to college discovered after graduation that they were
twice as likely as their parents’ generation to have trouble finding a
job.

36. The largest generation in American history was mainly born
during
A) the early 1940°s
B) the 1950°s
C) the 1960°s
D) the late 1960°s

37. According to the passage, which is true of the baby-boom
generation?
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A)
B)
0

D)

The mere mention of their numbers will cause the
government headaches.

This generation is entitled to attention from the country by
virtue of their numbers. -

They claim to be the most powerful generation in American

" history

They demand that the nation be child-oriented.

38. The baby-boom generation .

39.

40.

A)

B)
0)
D)

accounted for an expansion of the toy industry during the
1970’s

caused a large increase in labour force during the 1970°s
outshone their parents in intelligence

has been given plenty of scope for displaying their abilities

It can be inferred that during the late 1980’s

A)
B)

9

D)

there will be a greater demand for teachers

the baby-boom generation will get used to limiting their
expectation

there should be an increase in productivity since the country
will have more experienced work force

more schools will be built

What can be said about the baby-boom generation?

A)
B)

)

The baby-boom generation is a terrible catastrophe.

The baby-boom is a great strain on food and natural
resources.

The country is in for another baby-boom.
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D) The baby-boom has led to increased unemployment.

Part I Vocabulary and Structure

Directions: There are 30 incomplete sentences in this part. For each
sentence there are four choices marked A), B), C), and D). Choose
the one answer that best completes the sentence. Then mark the
corresponding letter on the Answer Sheet with a single line through
the center.

41. My wife bought the blue carpet, but] __ bought the brown one.
A) will rather have C) would rather have
B) rather had D) would have rather
42 Tt possible to plan a named trip to Mars, provided that a
great deal more information is obtained.
A) ought to be C) would have
B) mustbe D) canonly be
43, 1 think I will wait until the mail
A) should come C) comes
B) is coming D) will come

44, Old Mr. Brown isn’t coming to the meeting tonight.
A) He hardly ever leaves his house now
B) Hardly ever he leaves his house now
C) He hardly leaves his house ever now
D) He leaves hardly ever his house now
45. The children are at play while their fatheris __ his books.
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A) at C) on
B) m D) into .
46. The perpetual cloud cover makes Venus in the
night sky.

47.

48.

49.

50.

51.

A) the brightest object

B) tobe the bnightest object
C) among the brightest objeét

D) be the brightest object
This book is worthy

A) publishing

B) being published

John is a good student,

A) as English

B) English as

C) of publishing

D) of being published
his best subject.

C) English being

D) being English

I have got of work to do today.

A) ot C) much

B) piles D) deal

The news of the enemy’s defeat quickly
the town.

A) handed C) spread
B) yielded D) subjected

The prince hoped to
help of a foreign army.
A) exclaim

B) claim

the English crown with the

C) proclaim
D) announce

round



